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PART A. Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the correct choice on your answer sheet.

I- Al linguistics work, ----------—-, should ultimately have something to say about the
question, ""What is this thing called language?"
1) based on whatever one may adopt a specific perspective
2) which is whatever one adopted as a specific perspective
3) being an adopted specific perspective of whatever form
4) whatever specific perspective one may adop!
2-  Clearly input is necessary to children’s language acquisition. Yet, - CDS and
other input, such as peer-to-peer interaction, facilitate language acquisition.
1) how exactly we are certain about less than
2) what we are less certain about is how exactly
3) less certain as we may be about how exactly
4) we are less certain about how exact

3- ~=-=, & common reason for looking up a word in an English dictionary is to check
how to spell it.
1) Given that English spelling is so erratic
2) So erratic English spelling is that
3) So erratic as English spelling is
4) Being so erratic a given English spelling
4- ----, it needs to satisfy a series of conditions referred to as either felicity or

appropriateness conditions.
1) To be as successful a speech act as it is
2) With a speech act to be successful
3) For a speech act to be successful
4) As for a speech act to be successful
5-  With unsettling regularity, news reports tell us -—eeeeeeees : attacking teachers and
classmates, persecuting others out of viciousness, avarice or spite.
1) about children wreak havoc on their schools and communities
2) by wreaking havoc on their schools and communities children
3) that their schools and communities wreaked havoc on by children
4) of children wreaking havoc on their schools and communities
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6-  The popular belief is that English spelling is chaotic and unsystematic—"the evil of our
irregular orthography" according to Noah Webster, the dictionary maker—usually
1) bases a fully transparent alphabetic system on the ideal
2) basing the ideal, fully transparent alphabetic system
3) based on the ideal. a fully transparent alphabetic system
4) a fully transparent alphabetic system is ideal-based

PART B. Written Expression

Directions: In this section each sentence has four underlined words or phrases. The four underlined

parts of the sentence are marked (1), (2), (3), or (4). Select the one underline part that must be
| changed to make the sentence correct. Then mark the correct choice on your answer sheet.

7-  Compellingly written and drawn on cutting-edge research, The Language Myth sets
1 2
out a forceful alternative to the received wisdom, showing how language and the
3 4

mind really work.

8- Recall that one of Chomsky's arguments for grammar to_be innate was exactly that:
1 2 3
children do not make the sorts of logical errors they might otherwise make, and they
4

receive little in the way of formal correction.

9- The language-as-instinct thesis takes the view that a child born with a pre-specified
Universal Gll'ammar, which provides the underlving rules that allow ’
a language to emerge on the basis of minimal l?nguistic input.

10- Indeed, i.l‘l the vast majority of cascs learners with sufficient motivation can achieve

a working knowledge of an L2, regardless of their language aptitude, because of
1 2
without sufficient motivation even the brightest learners are unlikely to

persist long enough to attain any really useful language.
3 4

11-  The cornerstone of this new theory of motivation is the idea of the overall self

not as something single, fixed and permanent but rather as the collection of a
number (l)f different, that szhift and sometimes ever? contradictory selves.
12-  But when a direct objec:is made subject of a sentence in the passive voice,
not only does the object change fun:tions (from object to subject) but an entirely
differeznt type of sentence result (a sentence in the passive rather (h:n active voice).
4
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PART C. Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the correct choice on your answer sheet.

13-  She was such a -------—-—- sort, always saying that life was just a bowl of cherries.
l) virtuous 2) sanguine 3) bombastic 4) heterodox

14- The judge’s colleagues and the Chief Justice of his court, however, stood by him. They
said that his conduct in office was -—---eeeeeer and there was not a single black spot in his
long record of service.
1) paradoxical 2) uninterruptable
3) irrevocable 4) unimpeachable

15- Based on some newly discovered evidence, the school principal was charged with —--—----
and suspended.
1) peculation 2) trilemma 3) usufruct 4) determinism

16- You need to bolster his -~---=--—--- spirit by telling him that he has prepared well and that
all his doubts are unfounded.
1) dubious 2) unruly 3) understated 4) sagging

17- A few Kids are ----------—-: they seem to arrive in the world 'pre-cooked'—while we, the
lesser mortals, have to fry our brains for years, first at schoo! and then at college.

1) sturdy 2) improvident 3) heretical 4) precocious

18- The power of governance --—--—--—-- from the Central government to the States, and
from the States to the local bodies such as Municipal Committee and the panchayats.
1) emerges 2) ascribes 3) devolves 4) soars

19- I hate the way he ~—---eceueev to his friends whatever new electronic stuff he buys.
1) attunes 2) acquiesces 3) ilaunts 4) capitulates

20- A violent fit of coughing interrupted her, and when the —-—---vne- was over she was too
exhausted to speak.
1) privation 2) paroxysmni 3) spontaneity 4) feint

21- In fact, privatization has not only ----—------- individual industries and a whole economy
headed for disaster, but has also raised the level of performance in every area.
1) exacerbated 2) rescued 3) evaded 4) entangled

22- The mediator tried but failed to get the two opposing sides to reach some common
weseeeveeee. shattering all remaining hope that a quick and painless resolution to the
dispute could be found.

1) ground 2) compliance 3) issue 4) path

PART D. Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) that best fits
| each space. Then mark the correct choice on your answer sheet.

In the canonical writing of the cultural essentialists, language has a very close and
intimate relationship with culture, an association (23) ----=--=---- by the
language/culture interchangeability of Ngugi, who asserts that (24) ----ee-ee-- the
collective memory bank of a people's experience in history. In his view, language
carries the burden of a particular, evolving culture and becomes the people's
(25) —=mmmmmmeeee of their accumulated experience to the point that it becomes almost
indistinguishable from the culture that defines its growth. articulation (26) —=--—---=--- ;
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This interchangeability betrays Ngugi's longing for an ideal: the isomorphism between
a particular language and a certain (cultural) reality.

Two objections (27) ------——-— articulation, however: the first is the one
(28) ====-=-=—-- the early Wittgensteinian view that the limits of language mean the
limit of the world. The view is not only that language influences our conception of the
world, as Ngugi would agree, (29) ----- alone determines our particular manner
of establishing perceptions and sentiments. This view is overly focused for permitting
the experience of reality only one constitutive factor, language. to the (30) ----
of other non-linguistic factors. Yet since reality is many-sided and aleatory, its
boundary cannot be determined or captured solely by language, or in other words.
humans experience the world in innumerable ways too varied and complex to be
captured by language.

23- 1) camouflaged 2) obstructed 3) evinced 4) surpassed
24- 1) language as well as culture are 2) language as culture is

3) as culture is language as well 4) language is. as culture,
25- 1) chronology 2) affection 3) autonomy 4) expression

26- 1) and transmission to other generations
2) for other generations whom they transmit
3) for transmitting it to other generations as such
4) but not whose means to transmit to other generations

27- 1) force 2) compel 3) deserve 4) manifest
28- 1) following from 2) 1o be following from
3) from which to follow 4) and following from are
29- 1) but that language 2) language
3) also language 4) however, language
30- 1) point 2) extent 3) way 4) exclusion

| PART E. Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Thn mark correct choice on your answer sheet.

PASSAGE I:

“He's a vegetable.” The words evoke the image of a human being who lies
permanently lifeless and unconscious. Yet how do we know that such a person’s mind
isn’t still intact? How horrible it would be if the patient couldn’t communicate yet
could understand the people standing around his hospital bed, talking about him as if
he were dead.

John F. Connolly. a psychology professor and postdoctoral fellow Yannick
Marchand reported that a range of patients who are otherwise incapacitated are still
processing language. The researchers focused on a brain wave they call N400, which
occurs when someone encounters a spoken or written sentence that is grammatically
correct but semantically faulty. When a conscious person hears “The pizza is too hot to
sing,” an electroencephalogram registers the presence of the N400 wave during the
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31-

32-

33-

34-

split second after the sentence is heard. If the person is not processing language. there
is no N400.

Since 1999 Connolly’s group has administered such semantic tests to 25 patients
with severe brain injuries—most recently four people who were so incapacitated by a
stroke. a drug overdose, a car accident and a small-plane crash, respectively, that they
were deemed without cognitive function by traditional measures. Yet when the
researchers read bogus sentences to the four victims, they all displayed some degree of
having processed language.

Connolly says more than half of the 25 subjects have shown N400 activity, but that
may not indicate consciousness as a healthy person knows it. Although a patient
studied in 1999 eventually recovered and recounted clear memories of the test, it is
very risky to make all-or-nothing conclusions.” Connolly says. “Some people may be
doing this reflexively. on a very semiconscious level.”

Which of the following best describes the organization of the passage?

1) A general statement is made and then refused due to conflicting findings.

2) The validity of the data collected via a research method is challenged.

3) An old theory is put forth and reaffirmed in the light of new findings.

4) A somehow controversial issue is raised and only patrtially resolved

What did Connolly and his colleague use as a measurc to test the validity of their
hypothesis?

1) Patients' response to a particular stimulus

2) Type of injury people in a coma might be exposed to

3) A grammaticality judgment test used on incapacitated people

4) Differences in brain waves between conscious and unconscious people

There is sufficient information in the puassage to answer which of the following
questions?

I. What induced Connolly to carry out his study on incapacitated people?

II. How many subjects has Conneolly studied as his sample since 1999?

IT1. What do traditional measures regard as signs of cognitive function?

IV. How does the N400 wave help people correct semantically flawed linguistic

structures?
1) Iand IV only 2) IT and 111 only
3) I and II only 4) I, 11, and I1I only

What does the author mean by "bogus sentences' mentioned in paragraph 3?
1) Sentences that ar¢ easy to process both linguistically and cognitively.
2) Sentences that tollow the formal rules of language but do not make sense.
3) Sentences that are produced by those whose cognition does not work properly.
4) Sentences that are generated by those who are at the bed of an unconscious patient.
What function does the last sentence of the last paragraph serve?
“Some people may be doing this reflexively, on a very semiconscious level,”
1) To show surprise
2) To preclude a hasty conclusion
3) To reiterate an already-made claim
4) To indicate a need for further research
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36-

PASSAGE 2:

People like Simon have been labeled as prescriptivists because their goal is to
prescribe usage: identify so-called correct and incorrect instances of language usage.
and in essence tell people how they should speak and write. Aitchison, in contrast. is a
descriptivist, an individual interested in describing how language is used. not in
placing value judgments on particular instances of language usage.

In fact, prescriptivists and descriptivists are often very antagonistic towards one
another. In highly emotional language, Simon characterizes “descriptive linguists™ as
“a curse upon their race.” Aitchison uses less emotionally charged language but is
quite blunt in her assessment of critics of language like Simon, calling them “puristic.”
“nostalgic™ for the past. and ultimately “illogical.” Although Simon and Aitchison
have very different views about language. both are engaging in what Deborah
Cameron describes as verbal hygiene. the practice of discussing what is good and bad
about language

For Simon. speakers of English are “corrupting™ the language. causing it to change
from its natural state of “perfection.” For Aitchison, speakers of English are
participants in a very normal and “natural™ process: language change. And there is no
point in intervening in this process, since it will happen regardless of any external
intervention. It is important to acknowledge that all views of language are
ideologically based because in discussions of prescriptivism and descriptivism. many
linguists simply dismiss prescriptivists as wrong. But in discussing prescriptivism, it is
worthwhile to distinguish reactionary prescriptivists from informed prescriptivists.
Simon is a classic example of a reactionary prescriptivist. He has little positive to add
to any discussions of language.

Instead. he merely reacts to-what he perceives as the deplorable state of the
language. Aitchison is correct in eriticizing his views as being “impossible to pin down
to any firm base.” How exactly does Simon want people to speak and write? What
state of linguistic perfection should we strive towards? Simon’s views of language are
also highly elitist, especially his idea that there is a great linguistic divide between the
“educated” and “uneducated” masses. People like Simon should be ignored: they have
nothing constructive to offer to discussions about language.

What does the paragraph immediately following the passage most probably discuss?

1) Specific conurbations of Simon and thinkers of his ilk to our understanding of
language

2) Differences between the language used by different social classes

3) Something about another branch of prescriptivism

4) How to bridge the gap between linguists

37- Which of the following best describes Aitchison's attitude towards those who favor the

38-

existence of a perfect language?

1) Profound disbelief 2) Mild skepticism

3) Calculated indifference 4) Qualified acceptance
The word "it" in paragraph 3 refers to ----e—eeeeev |

1) language change 2) external intervention

3) linguistic interaction 4) “corrupting” the language
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39-  Which of the following statements is supported by the passage?
I. From a prescriptivist's viewpoint, language usage is sometimes awry.
I1. Aitchison believes that there is no point in trying to revive an obsolete linguistic form.
I11. The language that Aitchison and Simon use to describe each other is emotionally

charged.

IV. The ideology pursued by Simon was only in vogue when there was no scientific study
of language.

1) 1. 11, and I1I only 2) I 11, only

3) I1, and I1I only 4) 1, 11, 111, and TV

40-  Which of the following rhetorical techniques is NOT used in the passage?

1) Contrast 2) Exemplification

3) Analogy 4) Cause and effect

LANGITICS:

41- A referring expression is any expression used with a particular referent in mind. Based
on this definition, in which one of the following sentences “a linguist” can be
ambiguous?

1) Poirot’s little sister wants to marry a linguist,
2) Last year, Poirot’s little sister married a linguist.
3) A linguist wants to marry Poirot’s little sister.
4) Last year, a linguist married Poirot’s little sister.

42- A folk ——=eeeeenn occurs when a word or phrase is assumed to come from a particular
root, because of some association of form or mecaning,
1) semiology 2) morphophonemics
3) etymology 4) proxemics

43- Consider these two sentences:
A: My boss sent the e-mail last week.
B: It was the e-mail that my boss sent last week.

The syntactic process that alters sentence A to sentence B is called -,
1) fronting 2) clefting
3) passivization 4) heavy NP shift
44- Which one of the following phonological words begins with a labio-dental fricative
consonant?
1) psychology 2) pneumonia
3) ptosis 4) philosophy

45-  Suppose that the following sentence is true:
It is not the case that Ronaldo came and Messi came to the city.
How many people came to the city?
1) just one 2) none or two
3) one or two 4) none or one
46- In these verses of Omar Khayvam rendered into English verses by Edward Fitzgerald,
which word is an expletive?
There was a Door to which I found no Key:
There was a Veil past which I could not see:
Some little Talk awhile of me and thee
There seemed-and then no more of thee and me.
1) to which 2) there 3) which 4) some
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47-

48-

49-

50-

F N (such as “there”, “this”, “you™ or “then”) is literally a pointing element: it
allows a speaker to point at particular times, places and individuals.

1) deictic category 2) referring category

3) syntactic role 4) semantic role

In which one of the following sentences the verb of the main clause has appeared in its
passive form?

1) When their bikes were being repaired by me, they were watching a new movie.

2) I would have invited you provided that | had been informed that you were in town.
3) If I were speaking. your brother would not be allowed to interrupt like that.

4) Intense emotions are dangerous or at least harmful unless they are controlled.

In morphology, the term --—--—-- refers to the prevention of a process of word
formation due to the existence in a language of a word with the same meaning as the one
which would have been formed.

1) blocking 2) closure 3) preventing 4) prohibition

Read the following passage:

An interesting branch of linguistics is the analysis and comparisen of the phonetic,
phonological, morphological, syntactic patterns that occur in the languages of the world,
the classification of languages in terms of those patterns and the deployment of those
patterns in exploring the diversity of human languages. It is possible to distinguish
qualitative and quantitative approach: the former focuses on the types of pattern on
which language classification might be based, such as word order, case marking, tense
and aspect and mood systems, and patterns of clause combinations; the latter focuses on
the frequency of given patterns in the world’s languages, on which patterns occur in
which languages and on which patterns occur together.

This field of linguistics described above is called ~—--—euaee- =
1) discourse analysis 2) cognitive linguistics
3) typology 4) generative linguistics
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